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(Write your Roll No. on the top immediately
on receipt af this question paper.)

Note :~ Answers may be written either in English or in
Hindi; but the same medium should be used
throughout the paper.
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Attempt Five gquestions in all, including

Question No. 1 which is compulsory.
Al questions carry equal marks.
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1. Discuss briefly 'any four of the following :

(a) Works Committee

(b) Distinction between ‘Conciliation Officer’ and
‘Board of Conciliation’

{c) Protected workman
P.T.O.
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(d) Application of the principles of res-judicata in the
Industrial Adjudication

(e) Scope of sectiron 10{4) of the 1.D. Act, 1947
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2. An.industrial dispute between worker’s union and the
management was referred for adjudication to an
Industrial Tribunal by the appropriate Government. The
Tribunal gave its award in favour of the union.
Aggrieved by the said award the managemént files a
special leave petition before the Supreme Court under
Article 136(1) of the Constitution. The worker’s union
contends that the Supreme Court has no jurisdiction
to grant special leave petition against the award of an
Industrial Tribunal. Discuss and decide.

R WE 7 FAER gFET T geera @ 99 v
S far =i st st Ft e 3g At
B W w3 s sfiRda ofee @ owe X
R I sffis ¥ =fE S wERE 3 9Rum @
FTBT 136(1) T FAT Ivaow WEHed B @ Ay




6370 ‘ 3
Il o | & @ FER aRe X viee
o Ivaan G ® U U6 S s 3 s
= forg A sl aifem @t wog o o sl =8
21 e wwr fafRm < o

3. Can the appropriate Government after receiving the
failure report in relation to an industrial dispute
exercise its powér to make reference only under
S.12(5) independently of section 10(1) of the Industrial
Disputes Act, 1947 ? Discuss with the help of decided
cases.
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4. Advise the management broadly on the principles,
governing disciplinary action against workman who
may be accused of misconduct in employment.
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5. {a) An industrial tribunal gave an award about the
wages of workman, and sent it to the appropriate
Government for publication. But before the
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publication of the award the management and the
workman arrive at a settlement and request the
appropriate Government not to publish the award
in view of the settlement. But the appropriate
Government insists to publish it. Is the appropriate
Government justified in insisting to publish the
award ? Discuss.

(b) An award of the industrial tribunal is published by
the appropriate Government after 35 days of its’
receipt under section 17(1) of the L.D. Act, 1947.
Is the award legally binding under the 1.D. Act,
1947 7 Discuss.
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6.

“Undoubtedly, the management of a concern has power
to direct its own internal administration but the power
is not unfimited and when a dispute arises, industrial
tribunals have been given power to see whether the
termination of service of a workman is justified and
to give appropriate relief in cases of dismissal for
misconduct. The tribunal does not, however, act as a
count of appeal and s.ubstitutc its own judgement for -
that of the management.” (per S.K. Das, J. in Indian
Iron & Steel Co. Ltd. V Their Workmen (1958) 11 LLJ
260.

Critically examine the above observation reflecting
the correct legal position on the subject as on today.
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7.  What do you understand by minimum wage ? How
would you distinguish it from fair wage 7 What are
the criteria adopted by the Industrial Adjudicatory
authorities in fixing/revising the wage structure in any
particular industry ? Discuss.
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8. Elucidate the following statement with the help of
decided cases: -

“An employer is liable to pay compensation for any
personal injury caused to a workman by an accident
arising out of an in course of his employment. And
the premises of the employer have got to be extended
both in time and place with the help of the doctrine
of National Extension for the purposes of employer’s
liability.”
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